2021 ' HEEN| KR — P FRFEY — 2 HZS | A F BT ER B e

BT — LA % % Sl
Jf'“? Wk | Bk | mk | TR | dak | Bk |k [ M S| | s | s [REar| wmE | rme | s | deer| o | BER ) s
O Hix ®O | @O | @O | OO | OO | OO 933K 0.750 12 391 108 61 5 9 0.276 2.25 | 81 27 2 10
@| x| ce O | 0@ | 0O | 0O | 0O 93 0.750 12 | 382 | s9 36 2 15 | 0233 | 236| o7 28 1 14 Kanagawa U:i“:’c‘;;;‘;zb"” Team
®| Wk | OO | O® ®O | OO | C@ | OO 8B4 0.667 12 394 98 40 7 14 0.249 L19| 72 14 0 17 5 BB m‘f Eﬁ(jﬁi I
@ Tx| ce | @0 | 0@ ce | 0o | ce TSR 0.583 12 | 01 | 109 | a9 5 25 oz | was| 2 | u 0 23 f;ié Zﬁgjiﬂr ﬁ?{.)
G| Wk | 00 | 00 | 00 | 0 @O | OO AE8HL 0.333 12 382 89 36 2 15 0.233 3.03| 96 35 5 14 el A4 AHEF)
® k| o0 | 00 | €O | 00 | OO® (e]e] ARSI 0.333 12 398 86 23 1 7 0.216 519 137 60 3 12
@ #wk | 00 | 00 | 00 | 60O | 00 | 00 11 1R 0.083 12 374 75 18 1 10 0.201 5.50 | 129 63 5 24

ML ESALASF R AR o= Pz D IERLYL T ATV, BERS R M C SR LI BERRIR 0 B . SAL DO E B IR R s R L T oo B .

WS
1A 3R () xR 1081 BIHIIZ28 A eI L, & TRAVRV IR &V | 912 M6 A2 W
40 (H) X ERKE 208 SENC3EESEHIL, AL, THOR—LTATTYEM A, B FHA R % 54 502 R
17H (b)) ks 304 TENCARE S AT 1224, SER OB, IARFTHRA SR U2 R
188 () X fapaksE 31 SIS, T AR ELZENTES, 5T
248 (1) X BRERER Aps1# LRZBIR L7 T, PREHOE MR ALL, 247 L —2 OO LA
250 (H)  Xb BISEAERR 42 LEHRFOR— AT ALY 28520 IR ESIL, Z17 L —2 ORBF]
54 1A () s R TR 6lEll2 82 el S, SEICHIBNAETFL, FFIITIZHTICIA LN TLEL, Jk
28 (A) I TRAS: TENZ2 ARSI L | 3 T VRED SR BT I
8H ()  xf BRERRIAE BENIHEFDOI— AT AZIV2 &SI L, B FHA9 R & #5202 R
9H (H) ISP ARAEIEBO T LI ARFOT Ry rR— AT AZLYHNAE D | SR
158 (4) 1ENE3 &SI, 4RI =i OR— A7 TR, B TR B 5 I 12 A
160 (H) 3[al Sl S, SENCHIBINAABINE L, F v RAEENT LN TE TR, 45 F3MARE
_LEPNDE XIRESTRE = 31T
SHi £ #E | #HE R TH Ba | RITH| BT | BT | Z24 | XEHT| TR &2 B R | MRk | = RE E | hBER| BT
5t ’ER 4 12 50 47 7 17 9 4 1 3 11 3 [ 0 2 16 2 0362 | 0388 | A%
pid EAR 4 12 50 39 4 13 12 0 1 0 3 3 4 0 7 2 3 0333 | 0435 | HXE
5t 1 12 49 43 7 11 8 3 0 0 0 4 2 0 4 10 1 0256 | 0319 | HE
i) 3 12 51 49 6 12 7 3 0 2 6 1 0 0 2 8 0 0245 | 0275 | BA
= 2 10 37 29 5 6 5 0 0 1 1 3 1 0 7 3 4 0207 | 0361 | HE
— 4 12 49 45 3 7 6 1 0 0 4 0 2 1 1 6 0 0.156 | 0170 | %%
it 3 10 36 28 4 6 2 4 0 0 6 0 1 0 7 8 2 0214 | 0371 | A&
A BE 3 10 35 33 3 9 7 2 0 0 1 0 1 0 1 9 1 0273 | 0294 | k%
5t AR 4 8 20 15 4 3 1 1 0 1 1 0 3 0 2 4 0 0200 | 0294 | HAE
i BT 3 9 17 14 0 6 6 0 0 0 3 0 0 0 3 3 0 0429 | 0529 | HEH
= g 2 5 13 12 2 2 2 0 0 0 1 0 0 1 0 2 0 0.167 | 0154 | HE
5 BE 2 4 12 12 0 2 2 0 0 0 1 0 0 0 0 4 0 0.167 | 0167 | HE
i =R 1 3 8 8 0 3 3 0 0 0 0 0 0 0 0 1 0 0375 | 0375 | HA
- B 3 7 6 6 1 0 0 0 0 0 0 0 0 0 0 1 0 0000 | 0000 | A
= 35 2 1 4 3 0 0 0 0 0 0 0 0 1 0 0 2 0 0000 | 0000 | HE
E Bl 3 6 4 4 1 0 0 0 0 0 0 0 0 0 0 3 0 0000 | 0000 | &%
kil |H 4 1 2 1 0 0 0 0 0 0 0 0 0 0 1 0 0 0.000 | 0500 | A&
5t AR 4 4 2 2 0 1 0 1 0 0 2 0 0 0 0 1 0 0500 | 0500 | H&H
T #ERX 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0000 | 0000 | %%
i & 3 1 1 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0000 | 0000 | HA
5t L} 4 1 1 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0000 | 0000 | %%
MHBUE IR = 12 [
£l 2E | ek | = ST f 7 | BERE | $TEM | BRE | BRI | WA | 5W% | Bk | K% km | BER | BEE| BT
L] 4 5 0 0 0 0 14 51 189 8 0 1 1" 0 0 0 000 | HH
HE 3 7 0 1 1 0 43 167 633 23 0 11 61 0 4 4 0.84 E=tel
IS 3 7 0 0 2 1 32 130 446 30 0 5 23 0 17 8 225 | HE
a3 1 6 0 0 0 3 61/3 22 104 2 0 3 7 0 0 0 000 | HAE
*H 1 3 0 0 0 0 6 23 93 4 0 2 3 0 2 2 300 | BAE
EBFE 3 2 0 0 0 0 42/3 20 83 5 0 4 3 0 0 0 0.00 EE




